B =

AAREE (RBI36-8) HrlHBDMmM#EA (25H) #EE FTEX (9~12AR)

=]

SHTEE MEPRTFEEL

Bl HERB = % E 8 FERD e E]
9/25 | K |/hEET MRt v X — AM:100%. PM:100% | miJll. JEE |/NERE. —& 1
9
9/27 | & |REHH HL<YwHEE AM:100%&., PM:100% | MF. KE |EAEE&. —#& 2
10/3 | R|KREEFT #HBE AM:1004%, PM:100% | T, KE |[KRERE. — & 3
101 10/8 | X |WEHEFT W= AM:100%. PM:100% | T, KE |58, —iK 4
10/21| B | RBEFT #E AM:1004, PM:100% | T, KE |[KRERE. — & 5
11/8 | & |fERMmHEXXLE > & — AM:100%&, PM:100% | MF, ZBIF |BhAEE&. —#& 6
11/19 | K | LGkt > 2 — AM:100%&. PM:100% | mJll. JEE |LHSE&. —#& 7
11
11721 | K | REAT lEERSEE AM:100%. PM:100% | M), [EE |REFE5. —#& 8
11/25| B |FHsra TR AM:100%, PM:100% | MTF, Bl [FBR=E. —K& 9
12/6 | & |SREEBEEL Y X — KEHEE | AM:100&, PM:100%& | MTF., =iF |[fRAEE. —K& 10
12/9 | R |sREET BE= AM:1004, PM:100% | T, =i |BRAS&. —ir 11
12112/13 | & |LEET #H= AM:100%. PM:100% | M)l JEE |FHFE. —#& 12
12/17 | M| KETET = AM:1004, PM:100%& | T, KE |KEI&RE&. —& 13
12/24 | M |EABT BE AM:100%&., PM:100% | mJll. &% |[/NERE. —#& 14
=t 14H BA 2,800% £81,770%

XEHELHRIZ. EHEBEEE LTEREFE L. ERICIEHEME LTSNT 5,
XKEM2FE1~3BI1E. B3[E, 5H9ERBERE (FA1,8004)




